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AN UASAHD
M DHAE AEHH 2
el DIEALIA BE S CEEED
A - HE B (3A) - HRAY - B Ol &t o San HmEET
SEEEEEE R N EES
1,100, 000& »5CH 5,500
ORQoIALZI| FANES 1,600, 0002 = 1CH 1,600
OxsE MEES2E It 53,3008 *13H 693
oozt & EXOIEH= =@ HEESEEIH
2 130,000& *14H 1,820
OSgoAzE? WHSELE It
164,560 52 823
OF2ISE23 23 23E(SIN)
2,920& *2,0000H 5,840
OtE==g & 2| 2elt] 0 0
202 o4dl 3,500 3,500 0
01 = LH o4 1l 3,500 3,500 0
Oel& N 3,500
NEBHESA2H2 JHIXA 45,770 43,584 2,186
= 45,770
101 @14l 32,039 30,509 1,530
= 32,039
04 JI2ZtHZ22HEE = 32,039 30,509 1,530
OINEZHEEARHEH BEX 2 32,039
= 32,039
201 Yet2 | 4,577 4,358 219
= 4,577
01 At 22l 4,577 4,358 219
ONEBHSSANSHIZY #3ZY| 4,577
2 4,577
202 o4l 9,154 8,717 437
= 9,154
01 S LHOYI 9,154 8,717 437
OIS AHSE AR M S 9,154
= 9,154
EZHSEAMR(XA) 3,300 3,300 0
201 LBr2 Y| 3,300 3,300 0
02 =24l 3,300 3,300 0
ONMAEERHLa FRE+ 27500081205 3,300
AN A N 17,023 0 17,023
= 17,023
201 £B-2d| 12,703 0 12,703
= 12,703
01 At 2t 2l 12,703 0 12,703
OAZe] YRFA(EULAMNREEZE) 6,433
= 6,433
O el PRFE Sl 3,360
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fA: 2

Ha: JARBE FUBY €2
Sl ZoiH NNHN 29 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OMNAESKAHEEHE FR2F2 8,000
202 044l 1,500 1,500 0
01 = LH 4 1l 1,500 1,500 0
OXNHMHEAMG & MASXAH SR2FH 1,500
KNETHEALALY =& 72,300 0 72,300
= 65,000
< 2,300
[ia 5,000
201 Let249] 72,300 0 72,300
= 65,000
= 2,300
s 5,000
01 At 22/l 72,300 0 72,300
OXNEBTHEAAY Es2 72,300
= 65,000
< 2,300
e 5,000
NEEES 2= 423,812 103,125 320,687
= 150,000
e 273,812
EXNSEEEANLE 2 114,744 38,671 76,073
101 14 Hl 10,000 0 10,000
04 JIZHHZ22XEES 10,000 0 10,000
OXNHEZE 22X A= EH 10,000
201 et 54,060 32,671 21,389
01 At 22l 24,700 2,900 21,800
OZ23E 2 Aa |0 240,000& x5 1,200
OBAE 2428 HUBX 2
500,000& » 14 500
OZ3UEEHRE AMRIII |X
300,000& *2CH +33] 1,800
OEXNZAHLAALY Abl HAE 0T 29
100,000& =124 1,200
OFRSUEZESRANLAE 253 W
20,000, 000 20,000
02 =224l 29,360 29,771 A411
Oflgl AXGEH SPANAY SNLH
1,360, 000& 14 1,360
OEX.BAFEANLE SANE=>
28,000,000& =14 28,000
202 04l 3,000 6,000 A 3,000
01 = LH 4 Hi 3,000 6,000 A 3,000
O32t&8E g2Fa 2,000
OSIUAL & AR 2&H SIFR 1,000
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A QIS AL
Ha: JARBE FUBY €2
ool NNFELH 7E CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
207 SN H| 47,684 0 47,684
02 & AR b 47,684 0 47,684
OSSUHSTY 24 MBI
47,684,000& * 14 47,684
EZ2HFANMNY 59,068 64,454 A5,386
201 Let249] 10,600 5,600 5,000
01 At 22/l 10,600 5,600 5,000
O T2 FAMY MR |X 600
O T2Y LAY E22 M 10,000
202 odl 4,000 0 4,000
01 = LH 4 1l 4,000 0 4,000
OE2E=A 882 £ ANE2 88X AM 4,000
401 Al I 28I 29,900 46,187 A 16,287
01 A& HI 29,900 46,187 N 16,287
O S2YFA CHUHAIE S A REXI(XIZ LY
) 4,550,000& =24 9,100
OE2Y =LA GHUHANEE RAES 20,800
—dS8s# UM E RAES 1,000
—SEH sz ¢ B2
19,800, 000& 1 19,800
403 A X EHHSH=20IA 14,568 12,667 1,901
02 BJ12S0HCHstAt 2= 0 & A I 14,568 12,667 1,901
OIZNFLTFEALAE |X2el At
12,722,000& =14 12,722
OE2E=A J2k |RIEs AHY
1,846,000& 14 1,846
NStAIEE HMLtetE =X 250,000 0 250,000
= 150,000
s 100,000
207 A ROy 250,000 0 250,000
= 150,000
[ia 100,000
02 & AR I 250,000 0 250,000
OE=ZJ|8t XIGtAIE2 HASALY 250,000
= 150,000
s 100,000
H4ME FFEE =4 489,880 680,680 A 190,800
= 1,900
Xl 70,000
| 60,000
< 5,570
s 352,410
LHa s A=58E 31,880 31,880 0
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2N
X ZH -
L= B

el

- o
SN HE B (BH) - MR - BES e bl D=2t
ORZLENE JUHEE2 NN (ZHBAD)
9,600,000 35 28,800
&&= Bt 2 10,000 10,000 0
< 5,000
[ia 5,000
402 2I2H X201 M 10,000 10,000 0
< 5,000
s 5,000
02 QI 2 A EZ(OI XM TH ) 10,000 0 10,000
NNEE Y xe 84
10,000, 0008 1= 10,000
= 5,000
s 5,000
SHE ZO0HQ == 3,800 0 3,800
= 1,900
< 570
[ia 1,330
402 RI2EX20| M 3,800 0 3,800
= 1,900
< 570
s 1,330
03 2I2HCH & AL 3,800 0 3,800
SHEZOM IME=ALS 3,800
= 1,900
= 570
[ia 1,330
HE2HZH (LA S AL 107,214 101,383 5,831
=g 48,606 41,023 7,583
HESAIXIIE & AFQI 48,606 41,023 7,583
101 @14 Hl 48,606 41,023 7,583
03 RIAHAZZ2 T E =+ 48,606 41,023 7,583
OoJles 1,264,000 »2H 1200 3 *85% 25,786
Ounstl 40,0003 «2H 1201 2 «85% 816
O=4altl 80,0003 x2H «12J4 & »85% 1,632
OESE = 131,000& »2H «1200 & *85% 2,673
O&03 948,000 *2H x43| *85% 6,447
Oozz+% 632,000 *2H x23| *85% 2,149
OZEF Il 758,400 *2H x23| *85% 2,579
OAlZE2l=g 10,8733 x2 *15A] 2b+ 1200 & x85% 3,328
Odxt=¢ 57,9903 «2H x20! «85% 1,972
ONE= (X 40,0003 =1 «12J4 & »85% 408
ONEZ(2LINE)
20,0003 =4 H «12J4 & »85% 816
Jl2Zl 58,608 60, 360 A1,752
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SN QIS AD
Ha: HY22HAH|(BIRZ AL
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
IASAIL D238 58,608 60, 360 N1,752
201 gBt24d| 23,328 24,000 ANBT2
01 AP 22| H| 23,328 24,000 ANBT2
O MO A 18,663
OS2 H SHM A 4,665
202 044l 28,080 29,160 A 1,080
01 2L Y| 28,080 29,160 A 1,080
O S MO A 28,080
203 &R F & 7,200 7,200 0
03 AIZH =& 2 F X H| 3,000 3,000 0
OIS AIY AIHFRSL2=XH| 3,000
04 EANSIELR2F=XH| 4,200 4,200 0
QLI SAII BEXN2Y 4,200
MASS &9 & M8 &2 1,142,780 1,192,712 N 49,932
= 914,224
= 114,278
= 114,278
I =ME s 1,142,780 1,192,712 N 49,932
= 914,224
= 114,278
= 114,278
F=H3O 1,142,780 1,192,712 N 49,932
= 914,224
o=t 114,278
= 114,278
301 et A= 639,960 666,912 A 26,952
= 511,968
o= 63,996
= 63,996
01 Al E& A %52 639,960 666,912 N 26,952
OFH=2HN 639,960
= 511,968
&< 63,996
= 63,996
403 XX SHS K20 & 502,820 525,800 N 22,980
= 402,256
& 50,282
= 50,282
02 2I|2SOUHS A== AFE Y 502,820 525,800 A 22,980
O AIS 502,820
= 402,256
== 50,282
= 50,282
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